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VEONERE | VPSR GRAELR B | 435 Febndiiid
Soadalin filf g% Tl VAL 60% | 100 WH: 0k
Soadalin filf 4% Tl PR A 2 5% 100 I RK{H: 0.6%; f/ME: 0% THME: 0.053%
Soadalin filf g Tl M R 5% 100 BAE: 0.999%; H/MME: 0% “FI{E: 0.088%
Soadalin JEEhL ER L ] 5% 0 Al 3.549%; H/ME: 1. 188%; “FIME: 3. 305%
ST Y1) 2 I 5% 0.0 e KAH: 7.049m/s%; fe/ME: —12.469m/s% 5 FI{E: 0. 061m/s?
S F ) b epiBoYES 5% 0.0 | HAfH: 1.0563rad/s*; fm/MEH: —-1.112rad/s?*; “FH{H: -0.003rad/s?
SPMPE | B2 AR L 5% 0.0 UEC UG S KAE: 3. 6m/s; dpe/ME: -3, 6m/s; “FI{E: 0.011m/s
HERfPE PAT A7 B 1R 22 5% 100 I E WA e iR 22
R PAT ATEEHATHSR O | 5% 0 WH: 1k
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